1. What is determined by the first Leopold maneuver in breech presentation?

A. position of fetus;

B. the lie and position of fetus;

C. presenting part of fetus;

D. head of the fetus;

E. breech end of fetus.

ANSWER: D

2. What is the first moment of biomehanism of labor in breech presentations?

A. flexion of head;

B. internal rotation of breech;

C. flexion of trunk;

D. internal rotation of shoulders and external rotation of trunk;

E. internal rotation of head.

ANSWER: B

3. What term of pregnancy is possible to conduct the prophylactic rotation of fetus on a head in breech presentations?

A. in 28-32 weeks;

B. in 34-36 weeks;

C. in 36-38 weeks;

D. in 32-38 weeks;

E. without limitation of term.

ANSWER: B

4. What is contraindication for the external rotation of fetus in breech presentations?

A. early gestosis;

B. contracted pelvis I degree;

C. kidney disease of pregnant woman;

D. scar on the uterus;

E. all of the above

ANSWER: D

5. Which aid is given in the labor at frank breech presentation?

A. classic manual aid;

B. Tsovianov’ I manual aid;

C. caesarean section;

D. perineum protective maneuvers;

E. the Muller’ maneuver is used.

ANSWER: B

6. What the aim of the Tsovyanov’ manual aid at frank breech presentation consists in?

A. in providing of slow and gradual advancement of fetus;

B. in perineum protection from injures;

C. in the safe delivery of shoulders of fetus;

D. in the safe delivery of fetal head;

E. in the saving of correct fetal attitude.

ANSWER: E

7. What is the aim of the classic manual aid?

A. perineum protective maneuvers from injures;

B. providing of slow and gradual advancement of fetus;

C. delivery of the fetal arms and head;

D. delivery of fetal breech;

E. saving of correct  fetal attitude.

ANSWER: C

8. By the third Leopold’ maneuver in breech presentations is palpated:

A. the posterior of fetus

B. the breech of the fetus

C. head of the fetus

D. the level of uterine fundus

E. position of fetus

ANSWER: B

9. By the second Leopold’ maneuver in breech presentations is palpated:

A. fetal extremities 

B. breech of fetus

C. head of fetus

D. legs and buttocks of the fetus

E. position of fetus

ANSWER: E

10. At ІІ position of breech presentation the fetal heart is listened at:
A. on the left at the level of umbilicus

B. right side below than umbilicus

C. on the left below than umbilicus

D. on the left higher than umbilicus

E. right side higher than umbilicus

ANSWER: E

11. At the internal obstetric examination the doctor palpates above the pelvic inlet only the breech of fetus. What is the type of breech presentation?

A. complete breech;

B. knee;

C. incomplete breech

D. frank breech;

E. transversal.

ANSWER: D

12. During the labor at internal obstetric examination the doctor palpates above the pelvic inlet only one foot of the fetus. What is the type of breech presentation?

A. complete breech;

B. knee;

C. incomplete footling

D. frank breech;

E. complete footling.

ANSWER: C

13. During the labor in breech presentation all complications are possible, except for:

A. fetal hypoxia

B. deflexed presentation

C. early gash of amniotic fluid

D. weakness of uterine contractions

E. arrested fetal shoulders

ANSWER: B

14. What is the third moment of biomehanizm of labor in breech presentation?

A. flexion of head;

B. internal rotation of breech;

C. flexion of trunk;

D. internal rotation of shoulders and external rotation of trunk;

E. internal rotation of head.

ANSWER: D

15. All of the below are indications for cesarean section in breech presentation EXEPT:

A. Probable fetal weight less 3000 g

B. Breech presentation of the first fetus in multiple pregnancy
C. Breech presentation and infertility
D. Foot link presentation
E. Probable fetal weight more 3700g
ANSWER: A

16. What is the aim of the Moriso-Leuvret maneuver?

A. the delivery of  the fetal breech

B. the more rapid rotation of fetus

C. maneuver helps to flex of the fetal head

D. delivery of the fetal shoulders

E. acceleration of labor of fetus

ANSWER: C

17. What is the first moment of classic manual aid?

A. the transferring of the anterior arm in the areas of sacrum 

B. delivery of posterior arm

C. delivery of anterior arm

D. delivery of head of fetus

E. delivery of  breech 

ANSWER: B

18. What is the feature of the first moment of classic manual aid?

A. an obstetrician always delivers the anterior arm of fetus

B. an obstetrician always delivers the posterior arm of fetus

C. an obstetrician delivers the head of fetus, flexing it

D. an obstetrician delivers the head of fetus, deflexing it

E. an obstetrician helps for labor of  breech

ANSWER: B 

19. What is the feature of the IV moment of classic manual aid?

A. an obstetrician always delivers the posterior arm of fetus

B. an obstetrician always delivers the anterior arm of fetus

C. an obstetrician delivers the head of fetus, flexing it

D. an obstetrician delivers the head of fetus, deflexing it

E. an obstetrician helps for labor of  breech

ANSWER: C

20. What the purpose of the manual aid by Tsovianov’II method in footling presentation consists in?
A. in perineum protective maneuvers from injuring;

B. in providing of slow and gradual advancement of fetus;

C. in delivery of shoulders of fetus;

D. to transform the footling presentation to the incomplete breech;

E. in saving of correct fetal attitude.

ANSWER: D

21. Which method of delivery in breech presentations is the best for minimizing of the infant mortality?

A. cesarean section

B. obstetric forceps

C. Tsovyanov’ method

D. classic manual aid

E. breech extraction

ANSWER: A

22. What the type of presentation is if the fetal buttocks are palpable:

A. Frank breech  presentation;

B. Complete breech;

C. Incomplete breech presentation;

D. Footling ; 

E. Kneeling presentation.

ANSWER: A

23. What type of the manual aids need the patients with a footling presentation?

A. Manual aid  by Tsovyanov I;

B. Manual aid  by Tsovyanov II;

C. Classic manual aid;

D. Breech extraction.

E. All of the above

ANSWER: B

24. What type of the manual aids need the patients with a frank breech  presentation?

A. Manual aid  by Tsovyanov I.

B. Manual aid  by Tsovyanov II;

C. Classic manual aid;

D. Breech extraction.

E. All of the above

ANSWER: A

25. All of the following are the indications to the cesarean section, except:

A. Breech presentation and the fetal weight 3800 g

B. Breech presentation and any degree of contracted pelvis

C. Breech presentation and uterine dysfunction

D. Sinciput vertex presentation and probable fetal weight 3000g
E. Breech presentation and fetal distress

ANSWER: D

26. All of the following are the indications to the breech extraction, except:

A. Breech presentation and the fetal weight 3800 g

B. Breech presentation and maternal preeclampsia severe degree

C. Breech presentation and uterine dysfunction

D. Breech presentation and maternal heart or respiratory diseases

E. Breech presentation and fetal distress

ANSWER: A

27. All of the following are the conditions to the breech extraction, except:

A. complete dilation of cervix

B. intact amniotic membrane

C. the normal fetopelvic proportions

D. the rupture of membranes 

E. adequate anesthesia.

ANSWER: B

28. The contraindication to the breech extraction is:

A. fetopelvic disproportion

B. fetal hypoxia

C. the rupture of membranes

D. breech presentation and maternal preeclampsia

E. breech presentation and uterine dysfunction

ANSWER: A

29. What is the presentation when the fetal neck is extended and the back and occiput are in contact?

A. Vertex anterior

B. Face

C. Brow

D. Sinciput

E. Vertex posterior

ANSWER: B

30. What is the presentation when the fetal head is partially deflexed and a large anterior fontanel is presenting?

A. Occipital

B. Face

C. Brow

D. Sinciput vertex

E. Vertex posterior

ANSWER: D

31. What is the circumference of the large segment of the fetal head in the face posterior presentation?

A. 34 cm.

B. 36 cm

C. 32 cm

D. 38 cm

E. 41 cm

ANSWER: C

32. Spontaneous vaginal delivery is possible in all types of presentations EXCEPT ?

A. Occipital Anterior

B. Face 

C. Vertex 

D. Occipital Posterior

E. Brow

ANSWER: E

33. The base of the os hyoideus is brought into contact with the inferior margin of the symphysis during which cardinal movement of labor in face presentation ?

A. Extension

B. Expulsion

C. Descent

D. Flexion

E. Internal rotation of the fetal head

ANSWER: D

34. Cesarean section is performed in all below situations EXCEPT?

A. Sinciput vertex presentation

B. Face auterior presentation

C. Brow presentation

D. Oblique lie

E. Transverse lie

ANSWER: A

35. What is the presentation when the fetal head is extended and a chin is presenting?

A. Vertex Anterior

B. Face

C. Brow

D. Sinciput

E. Vertex posterior

ANSWER: B

36. What is the first moment in the biomechanism of labor in the face presentation?

A. Fetal head flexion  

B. Additional flexion of the fetal head 

C. Internal rotation of the fetal head

D. Fetal head extension

E. External rotation of the fetal head and external rotation of the fetal body

ANSWER: D

37. What is the circumference of the large segment of the fetal head in the brow presentation?

A. 32 cm.  

B. 34 cm

C. 36 cm

D. 28 cm

E. 39-41 cm

ANSWER: E

38. What plane of true pelvis internal rotation of the fetal head in the occipital presentation is finished?

A. Pelvic inlet

B. Pelvic outlet

C. Plane of the greatest diameter

D. Plane of the least diameter

E. Correct answer is absent

ANSWER: B

39. What are the reasons of deflexed presentation:

A. contracted pelvis

B. relaxation of perineum mussels 

C. small or large sizes of fetus head

D. thyroids tumor of fetus

E. all answers are correct

ANSWER: E

40. How can we diagnose the brow presentation:

A. Ultrasound examination

B. Leopold’ manuvers

C. Vaginal examination

D. X-ray examination

E. Pelvic examination

ANSWER: C

41. During vaginal examination fetal chin and nose was diagnosed. What is the presentation?

A. deflexed vertex

B. brow

C. face

D. anterior variety of vertex presentation

E. posterior variety of vertex presentation 

ANSWER: C

42. During vaginal examination large fontanel, glabella of the fetus was palpated. What is the fetal presentation?

A. deflexed vertex

B. brow

C. face

D. anterior variety of vertex presentation

E. posterior variety of vertex presentation

ANSWER: B

43. During vaginal examination large fontanel, which is located below small fontanel was palpated. What is the type of presentation?

A. sinciput vertex 

B. brow

C. face

D. anterior variety of occiput presentation

E. posterior variety of occiput presentation

ANSWER: A

44. The fetal head is delivered with its vertical size. What is the presentation?

A. deflexed vertex

B. brow

C. face

D. anterior variety of vertex presentation

E. posterior variety of vertex presentation

ANSWER: C

45. During vaginal examination the leading point was midline of the frontal suture. What is the presentation?

A. deflexed vertex

B. brow

C. face

D. anterior variety of vertex presentation

E. postirior variety of vertex presentation

ANSWER: B

46. What size of obstetvic conjugate indicate true pelvic contraction?

A. <10 cm

B. <9 cm

C. <11 cm

D. <12 cm

E. <13 cm

ANSWER: C

47. What is the diagonal conjugate in women with normal pelvis?

A. 8.0 cm

B. 9.5 cm

C. 11.5 cm

D. 13.0 cm

E. 15 cm

ANSWER: D

48. What is the true conjugate in women with diagonal conjugate 13 cm?

A. 11 cm

B. 9.0 cm

C. 12.0 cm

D. 10.0 cm

E. 15 cm

ANSWER: A

49. What is the true conjugate in women with external conjugate 20 cm?

A. 11 cm

B. 9.0 cm

C. 12.0 cm

D. 10.0 cm

E. 15 cm

ANSWER: A

50. What is the average biparietal diameter of term infants?

A. 8.5 cm

B. 9.0 cm

C. 9.5 cm

D. 10.0 cm

E. 11.0 cm

ANSWER: C

51. The anatomically contracted pelvis is associated with: 

A. true conjugate 9 cm

B. internal conjugate 11.5 cm

C. external conjugate 20.5 cm

D. diagonal conjugate 13.5 cm

E. fetopelvic disproportion

ANSWER: A

52. The clinically contracted pelvis is associated with: 

A. true conjugate 9 cm

B. true conjugate 11.5 cm

C. true conjugate 12.5 cm

D. true conjugate 13.5 cm

E. fetopelvic disproportion

ANSWER: E

53. In a nullipara at term the diagonal conjugate is10.5 cm. What is true from the listed below?

A. The pelvis is contracted.

B. Oxytocin is contraindicate.

C. Cesarean section is probably necessary.

D. Fetopelvic disproportion is common in labor
E. Al of the above is true

ANSWER: E

54. What is the main cause of fetopelvic disproportion?

A. rachitis 

B. fetal macrosomia

C. preterm labor

D. twins

E. fetal distress

ANSWER: B

55. What may be a result of excessive compression of birth canal’ soft tissues?

A. uterine rupture

B. cervical rupture

C. vesicovaginal fistules

D. perineal rupture

E. Vaginal rupture
ANSWER: C

56. What may be a result of labor in patients with fetopelvic disproportion?

A. uterine rupture

B. cervical rupture

C. vesicovaginal fistules

D. perineal rupture

E. Vaginal rupture

ANSWER: A

57. The pathological contractile ring is a sign of:

A. anatomically contracted pelvis 

B. fetal distress 

C. fetal macrosomia

D. danger of uterine rupture

E. all of above

ANSWER: D

58. What is the management in the case of the clinically contracted pelvis?

A. normal vaginal delivery

B. cesarean section

C. obstetrical version

D. fetal destroying operation

E. External cephalic version
ANSWER: B

59. The pelvic formula of the patient is 25 – 28 – 31 – 20 cm. What is the pelvic type?

A. normal pelvis

B. generally contracted pelvis

C. flat pelvis

D. flat rachitic pelvis

E. Transverse contracted flat pelvis

ANSWER: A

60. The pelvic sizes of the patient is 23 – 26 – 29 – 17 cm. What is the pelvic type?

A. normal pelvis

B. transverse contracted pelvis

C. flat pelvis

D. flat rachitic pelvis

E. generally contracted pelvis

ANSWER: E

61. The pelvic formula of the patient is 23 – 26 – 29 – 18 cm. What is the pelvic type?

A. normal pelvis

B. generally contracted pelvis

C. flat pelvis

D. flat rachitic pelvis

E. transverse contracted pelvis

ANSWER: B

62. The pelvic formula of the patient is 25 – 28 – 31 – 18 cm. What is the pelvic type?

A. normal pelvis

B. generally contracted pelvis

C. simple flat pelvis

D. flat rachitic pelvis

E. transverse contracted pelvis

ANSWER: C

63. The pelvic formula of the patient is 26 – 26 – 31 – 17 cm. What is the pelvic type?

A. normal pelvis

B. generally contracted pelvis

C. flat pelvis

D. flat rachitic pelvis

E. transverse contracted flat pelvis

ANSWER: D

64. What is the difference between the diagonal conjugate and the obstetrical conjugate?

A. 1 to 2 cm longer

B. 3 to 4 cm longer

C. 1,5 to 2 cm shorter

D. both the same size

E. 3 to 4 cm shorter

ANSWER: C

65. Generally contracted pelvis is characterized by:

A. diminution of all pelvic diameters

B. diminution of all pelvic anteroposterior diameters

C. diminution of all pelvic transversal diameters

D. diminution of true conjugate and increasing of the pelvic outlet

E. combination of generally contracted and flat pelvis

ANSWER: A

66. Simple flat pelvis is characterized by:

A. diminution of all pelvic diameters

B. diminution of all pelvic anteroposterior diameters

C. diminution of all pelvic transversal diameters

D. diminution of true conjugate and increasing of the pelvic outlet

E. combination of generally contracted and flat pelvis

ANSWER: B

67. Flat rachitic pelvis is characterized by:

A. diminution of all pelvic diameters

B. diminution of all pelvic anteroposterior diameters

C. diminution of all pelvic transversal diameters

D. diminution of true conjugate and increasing of the pelvic outlet

E. combination of generally contracted and flat pelvis

ANSWER: D

68. What is the cause of fetopelvic disproportion?

A. face presentation anterior

B. face presentation posterior

C. preterm labor

D. twins

E. fetal distress

ANSWER: A

69. Transversally contracted pelvis is characterized by:

A. diminution of all pelvic diameters

B. diminution of all pelvic anteroposterior diameters

C. diminution of all pelvic transversal diameters

D. diminution of true conjugate and increasing of the pelvic outlet

E. combination of generally contracted and flat pelvis

ANSWER: C

70. The true conjugate of the flat pelvis is 9.5 cm. What is the degree of pelvic contraction?

A. I degree

B. II degree

C. III degree

D. IV degree

E. V degree

ANSWER: A

71. The true conjugate of the flat pelvis is 8.5 cm. What is the degree of pelvic contraction?

A. I degree 

B. II degree

C. III degree

D. IV degree

E. V degree

ANSWER: B

72. The true conjugate of the flat pelvis is 8.0 cm. What is the degree of pelvic contraction?

A. I degree 

B. II degree

C. III degree

D. IV degree

E. V degree

ANSWER: B

73. The true conjugate of the generally contracted pelvis is 7.0 cm. What is the degree of pelvic contraction?

A. I degree 

B. II degree

C. III degree

D. IV degree

E. V degree

ANSWER: C

74. The true conjugate of the generally contracted pelvis is 6.5 cm. What is the degree of pelvic contraction?

A. I degree 

B. II degree

C. III degree

D. IV degree

E. V degree

ANSWER: C

75. The true conjugate of the generally contracted pelvis is 5.0 cm. What is the degree of pelvic contraction?

A. I degree 

B. II degree

C. III degree

D. IV degree

E. V degree

ANSWER: D

76. What type of pelvis does belong to rare occurred?

A. osteomalatic pelvis

B. generally contracted pelvis

C. flat pelvis

D. flat rachitic pelvis

E. generally contracted pelvis

ANSWER: A

77. What management is possible for the patients with I degree of pelvic contraction?

A. vaginal delivery 

B. cesarean section only 

C. vaginal delivery or cesarean section

D. fetal destroying operation

E. Labor preparing operation
ANSWER: C

78. What management is possible for the patients with III degree contracted pelvis?

A. vaginal delivery 

B. cesarean section only

C. vaginal delivery or cesarean section

D. fetal destroying operation

E. Labor preparing operation
ANSWER: B

79. What management is possible for the patients with IV degree contracted pelvis?

A. vaginal delivery 

B. cesarean section only

C. vaginal delivery or cesarean section

D. fetal destroying operation

E. correct answer is absent

ANSWER: B

80. How is macrosomia defined?

A. Birthweight > 4000 g

B. Birthweight > 4100 g

C. Birthweight > 4500 g

D. Birthweight > 5000 g

E. Birthweight > 5100 g

ANSWER: A

81. Which of the following is a risk factor for macrosomia?

A. Diabetes

B. Pregnancy induced hypertension 

C. Maternal anemia

D. Gestational age > 42 weeks

E. Preterm labor

ANSWER: A

82. What is the cause of fetopelvic disproportion?

A. sinciput vertex presentation and large fetus

B. face presentation posterior

C. occiput presentation

D. foot-link presentation

E. knee-link presentation 

ANSWER: A

83. What is the cause of fetopelvic disproportion?

A. frank breech presentation

B. sinciput vertex presentatio and III degree of pelvic contraction

C. occiput presentation

D. foot-link presentation

E. knee-link presentation 

ANSWER: B

84. Which cervical dilation indicates 5 cm contractile ring station above the symphysis?

A. 1 cm
B. 2 cm
C. 5 cm

D. 3 cm
E. 4 cm
ANSWER: C

85. Cesarean section undergo all types of multiple pregnancies EXCEPT: 

A. Breech – breech presentation

B. Breech – transverse presentation

C. cephalic – cephalic presentation

D. breech– cephalic presentation

E. Transverse – transverse 

ANSWER: C

86. How is fetus giant defined?
A. Birthweight > 4000 g

B. Birthweight > 4100 g

C. Birthweight > 4500 g

D. Birthweight > 5000 g

E. Birthweight > 5100 g

ANSWER: D

87. Which of the following is NOT a complication of macrosomia?

A. placenta abruption

B. Brachial plexus injury

C. Shoulder dystocia

D. Cephalopelvic disproportion

E. Uterine rupture

ANSWER: A

88. Which of the following is suggestive of dichorionic diamnionic twin pregnancy?

A. Discordance

B. Sonographic measurement of the dividing membranes thinner than 1 mm

C. Two separate placentae

D. none of the above

E. all of the above

ANSWER: C

89. With twins, which of the following is NOT true?

A. Pregnancy hypervolemia approximates 50 to 60%.

B. Cardiac output is increased.

C. Pulse rate is decreased.

D. Stroke volume is increased

E. The body weight increased 

ANSWER: C

90. Which of the following is NOT a specific complication of monoamnionic twins?

A. Cord entanglement

B. Discordancy

C. Conjoined twins

D. Preterm labor

E. Postdate labor

ANSWER: E

91. A twin fetus is at risk for each of the following complications EXCEPT:

A. stillbirth

B. anomalies

C. macrosomia

D. malpresentation

E. umbilical cord entanglement

ANSWER: C

92. All of the below are patients at risk for macrosomic fetus EXCEPT:

A. endocrine disorders

B. multiple pregnancy

C. obesity

D. diabetes mellitus 

E. excessive nutrition

ANSWER: B

93. Which of the following is associated with meconium-stained amniotic fluid?

A. fetal macrosomia

B. vaginal delivery

C. alkalemia

D. chorioamnionitis

E. fetal distress

ANSWER: E

94. What congenital anomaly is associated with polyhydramnion?

A. ventral septal defect

B. spina bifida

C. omphalocele

D. hypoplastic kidneys

E. fetal anemia 

ANSWER: B

95. Which of the following anomalies are not associated with polyhydramnios?

A. central nervous system abnormalities

B. duodenal atresia

C. esophageal atresia

D. renal agenesis

E. immune hydrops

ANSWER: D

96. What is the major source of amnionic fluid?

A. amnionic epithelium

B. fetal urination

C. fetal swallowing

D. fetal inspiration

E. placental production

ANSWER: A

97. What is the most likely cause of polyhydramnion?

A. maternal anemia

B. maternal cardiac diseases

C. decreasing of maternal urination

D. increased blood pressure

E. maternal infections

ANSWER: E

98. Polyhydramnion is a risk factor of :

A. postpartum infections

B. early postpartum bleeding

C. fetal macrosomia

D. fetal malformations

E. Pregnancy induced hypertension

ANSWER: B

99. What is the normal average baseline fetal heart rate at term? 

A. 100 to 140 bpm

B. 110 to 150 bpm

C. 110 to 170 bpm

D. 120 to 140 bpm

E. 160-179 bpm

ANSWER: C

100. What is bradycardia?  

A. baseline fetal heart rate < 130 for > 5 min

B. baseline fetal heart rate < 140 for > 15 min

C. baseline fetal heart rate < 120 for > 5 min

D. baseline fetal heart rate < 110 for > 15 min

E. baseline fetal heart rate < 120 for > 3 min

ANSWER: D

